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Faogail 1 2amsanal (x — 2)(5x° + 3x)

((5%7) + (x)(3) + (-2)(5x) + (-2)(3%)
5x° + 3x° — 10x° — 6x

5x°— 7x° — 6x

B/ xX—=2)6xX + 3%)

MauU 5% — 7x° — 6x
fhagnei 2 MNAAN (3x + 5)(xy + 2y — 1)

3x(xy) + 3x(2y) + 3x(-1) + 5(xy) + 5(2y) + 5(-1)
3x’y + 6xy — 3x + 5xy + 10y -5

= 3x’y+1lxy—-3x+ 10y -5
fau  3x°y + 1lxy—3x+ 10y -5

W Bx+5)xy +2y—1)

fauy

YananssunTsisBN; (dmsutinsou)
' ¥ a Y o o~y A A
nguasEnIsiiuiadamans tulissufnula 2 maseun 2

LI B y/

97



98

e T EE  wenla Usznaula

2.

(x=8)x+3)
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6. (7Tx+2)(-3x—1)
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